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Problem of the Day: Write and solve the direct
variation equation. If y= 8 x =3, find y when
x =28.5. \/ % '7 ,

Plan for the Day 1lect the Weekly

Finish notes from yesterday
More practice with intercepts
Objective: We will be able to find the intcreep

line from a graph, table, and equation.
Good luck Football and Cheerleaders at Salado!!

Study the graphs of the lines below.
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x-intercept: ¢, 2 o) x-intercept! C%) 0\
y-intercept: 0\3\ y-intercept: (O)—z_\
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. Determine the slope. X2=%, 471 14

. Circle the x-intercept (zero of the furl...
. Write the coordinates of the x- intercept. (2\0\

. Circle the y-intercept.
. Write the coordinates of the y-intercept. < O\z_\
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Finding intercepts from a table
y-intercept x-integcept/zero
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. Determine the slope. M"\.g’z—!-'- z=0 ‘-’ Z

. Circle the x-intercept (zero Yof t e?unctlon)

. Write the coordinates of the x-intercept. (4 ,0%)
. Circle the y-intercept.

e. Write the coordinates of the y-intercept. (O, 8)
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Finding intercepts from an equation:

to find the x-intercept, plug 0 in for y and solve for
X.

to find the y-intercept, plug 0 in for x and solve for
y.
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Example: Find the x- and y- 1ntercepts for the =
equations. Ch,® ‘-I(O) _’65
a. y=4x-3 *Q- l-#x-§ - 0_5

c.y=38 _%B-g -Q.lse_ —B—\-ﬂ— CO\?\
no x-inkrapt .;
d. x=38 "‘“
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